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Math 4 Honors Name
Lessons 53-6 & 5-7 Review Date
1. Consider the sequence described by the rule:
a. Circle the type of formula: m ot explicit a, =-1.75
b. Find the first five terms of the sequence. Qg =0, —2, k2l

- ,-7 5) '3_1{,' 5.1 S ) = 71-,4) - q\?
c. Cicle one classification; geometric, or neither.

d Write the other type of rule for the sequence.

Gre= -AK+2s

2. Consider the sequence described by the rule:
a. Circle the type of formula: recursive or a, = 2(1 1 2):4
b, Find the first five terms of the sequence.

2-31) 2.508F, 2.309% | 3.147, 3.534
c. Circle one classification: arithmeticor neither.

d. Write the other type of rule for the sequence.
G | - J')-‘*
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3. Consider the sequence described by the rule:
(n + fﬂ

a.  Circle the type of formula: recursive o explicit

b, Find the first five terms ofthe sequence. Ed 2

c.  Circle one classification: farithmetic) geometric, or neither.

4. A sequence 15 defined by the explicit rule: 3. A sequence is defined by the explicit rule:
i, =—4n -5  Findits recursive rule. a, =n"-3n  Find its recursive rule.
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Show work for the following:

& Expand: i(élk—kz). 7. Ezpand: _22 (7.
—_— fo) AJ
_7 L%qs ~ /1C 460 Ci
8 Expnd 3L = tao7
=+ meti T /;\// 9‘3/7l7l

9 Write using summation notation:  (1*D 4+ (2%4) + (3*¥16)+ (4 * 64

g (an™)

A= |
“ . 2rfr+ 1)(2r + 1)
10, Let 3(x) be the statement: Z((Zj)z) = 3
=1

and show that it is true fori S(6).h a A (6 + |Xa TA +|)

$(6)=
44+ 164 3e+6dt 100+ /I (6) 2

= 364 ‘/ = 3¢9 J
b, Write nz:((z-f)g ) recursively.
Nn+\

= L) (oof

¢ Tse (a) and () to find Z {Zi)
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11. Find the first term of a geometric sequence where g, =0.015 and g. =0.001875.
No guessing & checking; show vourwork algebraically.

Set up & solve a system of equations!
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